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i=1 Dﬂui i=l j=1 DﬂUi i=1 j=1 DﬂU.ﬂV,
- SR O SSRNUNY (N
_aa ith_aa |hJW_a JW
1= 1=l pNu; v j=L i<l by, 1=l pnyv;
§ 7.5 Stokes
M n , DIM M , 1D
D . 1D n-1 ) Stokes
c* ct. ct. D D
Stokes , M n-1
de = QW.
(‘gdw édw,Dr, Stokes
édw,Drf = &v,qDr.
T d 9 =d*
D
"P1 9D, P U,
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&
Adw = A 9.dw,
QM =a Qs
Kk
AW =2 A& gw
Q¥=d Q9
&
gaw =& §d(gw).
i=1
& & & &
a dgw)=3 (dg?w+gdw)=§ dg,?w+3 g,dw
i=1 i=1 i=1 i=1
Kk k
gaédg ’>w+a g,dw = g%é g|9’>w+dw.
ei=1 4] i=1 e i=1 4]
& &
ag-=1 da g =
i=1 i=1
&
dw =@ d(gw).
i=l
& & &
A =ac =aodiogw)=a o gw=Q Ww.
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1D U,
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Qd(gw) =g gw =0.
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Stokes : M n , DI M
ID. "PIT D, P U, j :U® B,

j (UNTD) =B,

M n-1
(‘gdwz(‘%w,
D M
D n-1 D
PT 1D, u, w U U
w  dw,

w=3Q (D tadx? - ?dx 2 dx,,??dX, .

i=1

j(DNU) B, n- , x, =0,
Woj 0,
(‘gdw = %W
Stokes
M R" Kk , ., D ,Stokes
Green Gauss Stokes Stokes

1 w =dx ?dx, +dx,? dx, .
1 w?w;
2 ; a,b, a?b=w.

2 a = xdx, + X,dx; + X;0x,,h = X X,dx,? dx, + X, X,dX,? dX, + X;X,dX,? dx;,
1 a?h;

2 h?a;
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3 a?h h?a ? ?

w=2 a adx?dx;,a +a, =0.

1£i£j£n

o a, fa
dw:l a gﬂ ’+ﬂ & ﬂa"' —dx,’?dx ?20dx, -
21£i<j<k£n ﬂxk ﬂxl ﬂxl ]

w =P(x,Yy,2)dx+Q(X,y,2)dy + R(x,y,2)dz, dw =0.

R ﬂQ P ﬂR R_Ir

(n-2 h,
dh =dx,?dx,?---? dx,.

w = yzdy? dz + zxdz? dx + xydx?dy .

1 w
2 h dh =w
w = a, (X)dx, + a, (x)dx, +a5(x)dx;,
h =b,(x)dx,? dx, + b, (X)dx,? dx, + b, (X)dx,? dx,,
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. _ g’ 3 ﬂj i ,
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j=1 @| =1
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i<jea] T4 Tu; Tu,
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3 rweh) =88 a6 @06 @22l g2 d,
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